ANEEXT—%

1. A4
HEHx1 A 738 754 738 752 766 -
Bt o 72.9% 73.1% 73.2% 72.1% 71.1% -
7k 27.1% 26.9% 26.8% 27.9% 28.9% -
HEH (FEEmH) A 738 754 738 752 766 -
29 LT 14.2% 20.3% 19.0% 20.5% 22.7% -
30~39%% 21.7% 21.6% 20.6% 20.4% 19.5% -
40~497% % 26.2% 27.2% 26.0% 25.8% 24.2% -
50~59%% 27.4% 23.1% 26.7% 26.3% 27.7% -
60R UL E 10.6% 7.8% 7.7% 7.0% 6.0% -
) Eln 42.1 42.3 42.6 425 421 -
Bt % 43.4 435 43.6 43.6 43.3 -
7k 38.6 39.2 39.7 39.6 39.3 -
g, /~— B A 47 37 37 44 47 -
FEEIKL FH 7,029 7,094 7,365 7,188 7,405 -
KUK T 2 BREESIRENX2 58.3% 58.4% 59.6% 59.3% 60.9% -
BrMESRE (EREASHE) % 56.6% 56.3% 57.6% 57.8% 60.1% -
BLMESKE GEERERSHE) 59.9% 70.8% 60.9% 69.9% 64.3% -

X1 BffiiEsREELE EEB:3A8310)
X2 BuEeE (FhxitEs THEHES)

2.ERDRENE
HEERAE 32 29 24 34 38 35
B A 25 22 18 23 24 -
4 7 7 6 11 14 -
FEFERER 11 4 2 4 11 -
B A 11 4 2 4 7 =
7 0 0 0 0 4 -
BRI % 4.0% 3.2% 4.3% 2.8% 4.8% 3.0%
HMEE (BC2HS) % 3.1% 2.0% 2.3% 1.8% 2.4% 1.5%
BERREE (BTZ3EFELIM) % 14.8% 9.8% 8.2% 4.6% 5.2% 7.0%
THEREN 16.4 16.3 16.9 17.0 16.7 -
B &F 17.1 17.0 17.4 17.7 17.4 -
7 14.3 14.5 15.3 15.2 15.0 -
3.4 /18— T4
T EIRE L33 % 9.7% 9.7% 10.5% 10.6% 12.1% 15.0%
R IEE LA % 3.4% 3.4% 2.5% 2.4% 3.2% 6.0%
REELLER (Fi&AD) % 17.9% 17.8% 18.6% 14.3% 13.5% -
EFERBEBERY A 13 7 3 8 7 -
BERX o 86.7% 87.5% 50.0% 88.9% 77.8% -
ZHBRERAE - 66.7% - 80.0% 75.0% -
EAVWEEREKS A 15 14 15 17 22 -
EAVEERE % 1.95% 1.80% 1.94% 2.20% 2.77% 2.5%

X3 BRAEBEULE
X4 (BR. XER. IBR. JL—7R. iR, v &2—F)
X5 ERICIGLTAT Vb

4.BFE - RE
ZRMLRF vy IEHRR 95.0% 98.0% 97.0% 97.3% 95.2% -
EHIRREZH =2 % 100.0% 100.0% 100.0% 100.0% 100.0% =
ZRIEEZE 31.9% 42.6% 35.4% 32.6% &t 50.0%
57— 34717V R
1IAHT-Y) ERFIRFRN %6 i 26.1 25.0 29.1 27.9 29.2 25.0
EYERIB A =] 12.1 13.6 13.3 13.4 13.2 -
EEREGER % 63.5% 68.1% 69.9% 70.9% 69.9% 70.0%
BIRAESMEEHKT A 10 9 7 13 10 -
=RES 5 21% 23% 11% 31% 66% 50%
peq s ° 100% 100% 100% 100% 100% -
BROI-HDIERFHREHIEIEERR A 33 28 32 33 32 =

X6 1 36HENRE
X7 BUHEOBRIESDUSEL - BUSEIL, FArEINLBOBIKREZESE L-BEZ2ET

6.TT—I XA MRE

EER % - - - 89.0% - -

REDERKS = - - - 3.7 - B

X8 EE, BS. RHICET 2 EROEHE (ERESTHWRICER)
SRt TR A (3.005K7 1 &Ly, 3.00 E3.505K7 1 »{EL, 3.500 E4.00K7 @ RREmL, 4.000E FELY)



